el eS| [=iva FCEK EHkno JE28 K % FRt
B7F 100m 1 10.82 1087 1.0 B EE 1 NS LR
B7F 100m 2 10.89 1653 1.3 AN #E 1 MFHEmE
BF 100m 3 10.93 1312 1.1 IR K1 | ERFPER
B7F 100m 4 10.95 1078 1.5 SEH N2 NS LR
BF 100m 5 10.99 199 1.0 BE BX1 =%
B7F 100m 6 11.02 1678 0.6 L B2 e
BF 100m 7 11.05 1405 1.2 BER #£A1L R —
BF 100m 8 11.08 18 1.9 AR OIKIE 2 | FOREKH
(£l ER= lEfT | &8k | Bikno & K % FiR4
BF 200m 1 21.49 14 -0.1 A gth 2 | FTREKM
BF 200m 2 21.64 1217 0.8 B K22 A5 E B
BF 200m 3 22.02 1090 0.0 B EHE 1 i Eaal
BF 200m 4 22.21 1653 1.1 AN #E1 MHEHEmE
BF 200m 4 22.21 1086 -0.1 M B i Eaal
BF 200m 6 22.30 199 0.2 BE BAX1 =%
BF 200m 7 22.35 319 0.0 =fE 5 2 AV
B7F 200m 8 22.37 1079 0.1 R ®E2 AN E R
£l ER= lEfz | &8k | Bffno K % FiR4
BF 400m 1 48.21 1217 B KE 2 RS E R
B7F 400m 2 48.27 14 AA 2t 2 TR EE KM
BF 400m 3 49.26 1090 B EHE 1 i Eaal
B7F 400m 3 49.26 1077 ARAS JFHE 2 BN E R
BF 400m 5 49.39 28 A E 1 TR EE KM
BF 400m 6 49.88 1288 Bk BR?2 HRFEIR
=3 400m 7 49.92 1076 NS KE 2 i Eaal
BF 400m 8 50.08 1210 BB BK2 A& E B
R &g ERL | FEER | E#kno K 4 FRE
BF 800m 1 | 1.56.32 [ 1135 il B2 HAOE
BF 800m 2 | 1.57.34 | 1432 A KA1 b
2 800m 3 | 1.57.36 | 1057 B EAN2 EE
BF 800m 4 | 1.58.95 | 1055 = £#H2 1w
B7F 800m 4 | 1.58.95 | 1062 WE Fil EEPE
BF 800m 6 | 1.59.29 | 571 HE =82 =%&m
B7F 800m 7 | 1.59.53 | 1146 B fat 2 HAOE
B7F 800m 8 | 1.59.62 | 1076 NS KE 2 Al




(el E= ERL | FEER | E#kno K 4 FRE
BF 1500m 1 | 35839 | 355 RiE BK2 REKF
BF 1500m 2 | 4.01.80 | 1135 Al B2H 2 H A
B7 1500m | B | 4.03.19 kEZE RHH2 A& E B
BF 1500m R | 4.03.21 R K& 2 + B HT
B7F 1500m 3 | 4.03.53 | 1057 B EAN2 T
BF 1500m 4 | 4.06.82 | 1419 e HEER 2 bk
B7F 1500m 5 | 4.07.98 | 426 MHE Bel = H
BF 1500m 6 | 4.09.37 | 1408 mEE 22 bk
(el E= ERL | FE8% | E#kno K 4 FRE
BF 5000m | FHR | 14.40.84 KE Rth2 F RS E R
BF 5000m | ®HE | 14.46.72 NGRS TR 2 +BHET
BF 5000m 1 |15.0489| 355 FE BK2 REKXF
BF 5000m | R | 15.14.21 it HRER 2 ik
BF 5000m 2 |15.18.10| 412 BB EEHE2 = H
BF 5000m | R | 15.23.52 Fid #X 2 ik
87 5000m | B | 15.39.23 it Hipk 2 BIRFE
B7F 5000m 3 |15.39.43 | 1162 HE BmE2 N ET B
B2F | BF5000m | R | 15.41.33 FH BX2 + B
BF | BF5000m| 4 |15.45.79| 1188 BH EKX2 HR LE
B2F | BEF5000m| 5 |15.50.20 | 1053 BR H2 EE
BF | BF5000m| 6 |1551.99| 563 ERE KA1 +HHE
= [=iva FCEK xole JE= K % FRE
110mH 1 14.96 1284 1.0 Kl =2 | ERFEIS
110mH 2 15.04 15 1.0 I B2 | FrREKHK
110mH 3 15.11 365 -1.0 AAR A1 REKF
110mH 4 15.13 1080 -0.8 Bl K#2 NS LR
110mH 5 15.15 1145 1.0  |9sa-zovv 72| AANE
110mH 6 15.37 1274 -0.8 FIf AH 2 | ERFEFS
110mH 7 15.41 1229 0.4 EA K1 RS E R
110mH 8 15.92 421 -0.4 AT RE 2 = H
el = [=iva FCEK EFkno K % FRE
B7F 400mH 1 54.04 1079 ARk EE?2 i Eaal
BF 400mH 2 56.73 1145 |(Hom -9 v - 74102 A A=
BF 400mH 3 56.76 270 R 2K 2 R
B7F 400mH 4 57.37 449 AGR - Rith 2 R
BF 400mH 5 57.39 15 H B2 R EE R
B7F 400mH 6 57.67 1285 N R N RRFEIN
BF 400mH 7 58.89 1089 B EANL Al
B7F 400mH 8 59.09 150 INE EFE 2 AN=L:]




PR E= JEAL ALK F#xrno K % FR%

BT 3000mSC 1 9.50.15 1188 BH OIKK2 HReoLE

51 3000mSC 2 9.50.47 413 S8 E=—HBB2 = H

51 3000mSC | #:B | 9.58.56 B/ K OH2 + B HT

51 3000mSC 3 110.07.16 | 266 fE M2 R

B5r 3000mSC 4 110.16.91 | 549 FH/N FEF2 + B HT

51 3000mSC 5 110.28.69| 1050 B HhE 2 T

51 3000mSC 6 |10.36.88| 1225 s B®RE 1 S E

BF 3000mSC 7 110.53.84 | 327 AE I&HE 1 N

PR E= JEAL FCER E#kno K % FRE

BT 5000mW 1 |[26.11.56| 547 He  f&# 2 +H#T

BT 5000mW 2 |28.05.29| 1150 sul A1 H AR

51 5000mW 3 128.05.53( 1212 i RN 2 FATEE

BT 5000mW 4 |32.23.81| 1286 RZE FRiE 2 RRFERHTS

571 5000mW 5 | 345779 227 EBE Bl R

BT 5000mW 6 | 35.58.66 73 rE E1 FRBRT

571 5000mW 7 136.22.10 212 E BBl R

B5r 5000mW 8 139.13.48( 1259 RERK E2 FRL

PR E= &AL FCE% A IN—= FRE
B¥ 400mR 1 42.47 |11FLHEL(Q2) =21 LR (2) =303 2¥(1) = 18KRIEE(R) | I B E XM
BF 400mR 2 42.59 |1223fHEL(1) =1220%)1BEH(2) = 12183 A S 7 (2) = 1215/ EEIR(2) B 75 [ PR
Bz 400mR 3 4277  |16968HRESA(1) = 1678MsILEIE(2) = 1680 DHE (2) = 1682 A £44(2) e
BF 400mR 4 A43.40 [257EILEABEA(2) =260 R FHIEH(2) = 262 AHE(2) = 2631BH B (2) =3
BF 400mR 5 A3.84 |1138KEMAQR)=1156MTAE = (1) = 1157\ LAEEH(1) = 1145470195 774N »(2) HASHE
B¥ 400mR 6 43.99 |190# 8 HEF(2) = 199885 B A (1) = 189EH5(2) = 192% HEE(2) =%
BF 400mR 7 44,03 |533R—F(2) =536 B4 (2) =562 LR KA (1) = 554 A AR (1) + HH7
PR EH [=iva FCEX AU IN— FR4
BF 1600mR 1 3.21.75 |12248mhAE (1) = 1215/ EER(Q2) > 12104 BRAX () = 121TEIXE(Q) | BHEEES
BF 1600mR 2 3.22.33 |1076/RIEKE(2) = 1077AKS KB (2) > 10863 ERER(1) = 1090E W& H (1) HFaRIls
=] 1600mR 3 3.23.36 |1154iE:8F1E & (1) = 1136 REBATA(2) = 1157 LAREF(1) = 1151 &85 (1) HANIE
BF 1600mR 4 3.25.66 |1295/@1LREE;(2) = 12888 AER(2) = 1307TAERE(1) = 12940 #HAQ) | ERFEITES
BF 1600mR 5 3.26.95 |1680iE:057E2(2) = 1682 HEM&(2) = 1687 =473 (1) = 16 94 BEEEA (1) EES
BF 1600mR 6 3.34.07 |1895E#5(2)=>194L O (2) = 191 A HRZ(2) = 2027 LSRR AR (1) =%5
57 1600mR 7 3.34.12 [2428%93.(2) = 239 F 0 h % (2) = 237 LA EEAR(2) = 2384 R (2) Nz




(el E= ERL | FEER | E#kno K 4 FRE
BT Em bk 1 1.95 558 E HF1 +HHE
BF Em bk 2 1.92 1137 B 22 H A
B7F EE Bk 3 1.90 358 Bl B2 EMAXFE
BF Em bk 3 1.90 12 R DA 2 R EE KM
B7F EE Bk 5 1.88 1281 = K#b2 RRFEIN
BF Em bk 6 1.86 586 RH K1 =&=
B7F EE Bk 7 1.85 168 TH BEEEK?2 A5
BF Em bk 7 1.85 420 R AR 2 = H
(el E= ERL | FE8% | E#kno K 4 FRE
BF =Bk 1 4.70 13 AT 2 R EE KM
BF EE Bk 2 4.10 164 N s 2 Vsl
BF Bk 3 3.90 169 R BK1 I
BF =Bk 4 3.80 1405 B £A1 R —
BF Bk 5 3.60 553 A EKREA1 +HHE
BF =Bk 6 3.50 1237 A KL F S E PR
BF Bk 7 3.40 652 =iE BE 1 Al A
BF =Bk 7 3.40 19 wH EE 2 TR EE KM
el E= [=iva FCEK e EHFkno K % iR
BF TERBk 1 6.95 1.8 260 B &2 =%=H
BF TERBk 2 6.84 1.3 1258 RIT 1B 2 R L
B5r TENEBE 3 6.73 1.0 620 P | REASHE
BF TERBk 4 6.61 0.8 318 B 2 N
BF FEMEDE 5 6.60 2.0 261 £RE Z|KR2 =&&H
BF TERBk 6 6.47 0.0 17 e EH2 | FUREKMH
BF TRk 7 6.46 0.7 1687 =9F X1 N La]
B TE Rk 8 6.43 -0.5 163 R EE2 A1z
BF TRk 8 6.43 -0.1 1536 | BEE fEKER 2 HRE
145/ = [=Liva RO EK e EHkno K % FR%4
BF =Bk 1 13.79 1.2 261 £FE Z|KR2 =£H
BF =Bk 2 13.44 0.9 543 K e 2 +HHE
B =Bk 3 13.17 0.6 163 R KE2 A1z
BF =Bk 4 13.13 -0.2 351 N w2 REKXF
B7F = BBk 5 12.93 -0.2 503 B8 g2 INFA
BF =Bk 6 12.68 0.8 1237 i K1 S E R
27 = Ex ik 7 12.46 -1.7 1275 | A+E B 2 | ERFEIR
BF =Bk 8 12.42 -1.0 1051 XF TR 2 15




(el E= ERL | FEER | E#kno K 4 FRE
BF R AL 1 16.56 1213 B 3H 2 F S E R
BF R AL 2 12.76 16 hE K2 R EE R
B7F Rt 3 12.71 64 BN A 2 Rk T
BF R AL 4 12.51 544 BRIER  JEKER 2 +HHE
B7F Rt 5 12.16 1245 SH B2 FET
BF R AL 6 12.11 20 WR B2 R EE KM
B7F Rt 7 11.53 165 FR OEH2 s
BF R AL 8 11.45 282 AN MWE?2 = HEAL
(el E= ERL | FE8% | E#kno K 4 FRE
BF A% 1 46.36 1213 B 3% 2 F RS E R
BF k53 2 39.76 16 FE K2 R EE KM
BF A% 3 39.01 64 BNl A 2 FmBRT
BF A% 4 38.83 1209 Bl RE 2 F RS E PR
BF A% 5 38.49 544 BRIER  JEKER 2 +HHE
BF A& 6 35.52 1278 hOBE EKEA 2 HRFEIS
BF Rk 250 7 32.05 559 o Bl +HHE
BF A 8 31.26 165 FR EH2 el
(£l E= ERL | FE8% | E#kno K 4 FRE
BF | rvv—#]| 1 47.83 1245 SH Bk 2 FET
BF |- 2 47.58 62 W BE 2 R RT
BF | nAve—#]| 3 42.66 1369 FRK HEF?2 FTREE
BF | nvv—¥&| 4 42.19 322 FO BE2 AV
BF | hrvvw—#]| 5 39.70 271 B KE?2 KM
BF | n"vv—¥&| 6 39.10 66 R KHE2 R RT
BF = | T 38.27 491 EEF  HRKER 2 KT
BF | nvv—¥]| 8 37.21 321 Hit #&E 2 N
el = [=iva FCEK EFkno K % FRE
B LY 1 54.35 1209 Gl RE 2 FSE R
B aelUE:"3 2 49.53 1211 £ h2 FGSE R
B5F © 3 48.21 1233 BN OFERL RS E R
B LY 4 47.52 428 EER BEE1 = H
BF © 5 47.17 1251 Al S 2 FET
B7F aelUE;"3 6 46.84 193 A 22 =%
BF © ) 7 46.72 443 N ERER 2 R
B7F aelUE;"3 8 45.59 417 B k&2 = H




(el E= ERL | FEER | E#kno K 4 FRE
BF NEF I 1 4933 420 R AR 2 = H
BF NEF I 2 4656 1281 = Rin?2 HRFEIR
B7F NEF % 3 4452 12 mEE DM 2 T EE KM
BF NEF I 4 4055 1025 A MEL 2 5
B7F NEF I 5 3786 1332 78 2 HH
BF NEF I 6 3737 1211 EE h2 F S E R
PR = [=Civa FCEK JE E#xkno K % R4
ZF 100m 1 12.10 2.0 1133 hA EWK1 |ERFPEFTS
ZF 100m 2 12.14 1.0 250 L EE2 +HHE
ZF 100m 3 12.59 1.2 20 LR 854 2 | $TBEKHM
ZF 100m 4 12.60 0.2 1057 HEE O WE2 i Eaa
ZF 100m 5 12.67 1.6 1212 XHE HM1 i
ZF 100m 6 12.71 1.6 1096 | E&JIl Ex 1| HAGE
ZF 100m 7 12.71 1.2 208 MOSEREM L R
ZF 100m 8 12.73 1.0 1063 LA E1 i Eaal
el E= [=iva FCEK e xle K % FRE
ZF 200m 1 24.72 0.7 1133 hE EM 1 | ERFEIR
ZF 200m 2 25.55 1.1 250 L EE2 +HHT
ZF 200m 3 25.89 1.6 20 LW B84 2 | $TBEKHM
ZF 200m 4 26.01 0.0 1062 AR B4l i Eaal
ZF 200m 5 26.13 0.5 1108 Sul Zhn 2 E PN
ZF 200m 6 26.21 0.0 1063 LA E1 i Eaal
ZF 200m 7 26.31 1.1 260 R E1 +HHE
ZF 200m 8 26.40 1.2 1008 2 RE1 | FiHEPR
el = [=iva FCEK EFkno K % FRE
ZF 400m 1 58.61 1209 A EK2 E3ipES
ZF 400m 2 58.64 260 g B +HHET
ZF 400m 3 59.05 1152 BAR F=HM2 T H
ZF 400m 4 | 1.00.90 | 1062 AR B4 1 i Eaal
zF 400m 5 | 1.01.19 234 Sul 5RES 2 EmPE
ZF 400m 6 | 1.01.88 | 156 Ba Hnrt 2 =HE
7ZF 400m 7 | 1.02.23 | 1022 Bt BRAER 2 NSRS
ZF 400m 8 | 1.02.33 | 1091 IR FIBF 2 HAOE




145 = [=Niva SR EHkno K % FREG
T 800m 1 | 21828 | 1053 g 2 e EZE
T 800m 2 | 2.2064 | 1278 HR ME1 =]
¥ 800m 3 | 22076 | 1224 S E 2 i1
ZF 800m | #E | 2.21.23 ml Xz 2 + B AT
¥ 800m 4 | 22477 | 1022 BN BAE 2 Btk
T 800m 5 | 2.24.78 | 1197 R R sRE—
¥ 800m 6 | 2.24.79 | 156 BO »HhY 2 =HE
T 800m 7 | 22517 | 248 EE $2 +BHT
el = JE{iz SR EHkno K % FRE
¥ 1500m 1 [ 42581 o8 ST N2 EEEM
¥ 1500m | 58 | 4.40.37 BE B2 + B AT
¥ 1500m | #R | 4.41.21 LA B4 +aHT
T 1500m 2 | 44407 | 206 EHE AR 2 £/
¥ 1500m 3 | 4.44.88 | 1309 B, B 2 A
T 1500m 4 | 4.48.77 | 1224 HHE B
¥ 1500m 5 | 45012 | 1119 B E& 1 B E R
T 1500m 6 | 45014 | 1278 HR ME1 eI
451 &8 [=Civa SR EHkno K % FR4
¥ 3000m 1 [ 92428 o8 ST TN EREM
ZF 3000m TR | 9.43.54 IR BEF] 2 R —
¥ 3000m 2 |10.14.36| 206 EE A2 =M
zF 3000m R | 10.15.04 B} X2 R —
¥ 3000m | 58 | 10.19.25 Nl BED 2 +Rar
T 3000m | 5B | 10.24.65 LA B4 + B Ay
“ZF 3000m | &8 | 10.29.64 ER HDY 1 e =L=E
T 3000m 3 [103018]| 1227 EEE By 2 B
ZF 3000m | #58 | 10.36.93 B AT 1 e =T=E
T 3000m | 58 |10.37.88 R EHH 2 e =T2E]
ZF 3000m 4 [10.41.36 Az A1 B E R
¥ 3000m 5 |10.43.57 Nl B HREM
TR EE= [=tiva FOEK JE: Exkno K % FR4
¥ 100mH 1 | 14.80 0.9 1056 | =g W2 | #mEEd
¥ 100mH 2 | 1501 | -0.8 87 R EE 2 =%
ZF 100mH | & | 15.15 1.0 mHE BEL HREKXRM
¥ 100mH 3 | 1537 0.2 1267 SiE E2 ST
ZF 100mH 4 | 15.60 1.8 129 E B 2 i ]
¥ 100mH 5 | 1574 | -05 311 | A\ER EHE1| =HS
ZF 100mH 6 | 15.95 1.8 1068 | Ak A1 | #FEEI
¥ 100mH 7 | 1597 | -07 1097 FE Ll A4




el EH NEfL ALK E#no K % FR4

7T 400mH 1 1.02.96 | 1209 AR EK2 i

T 400mH 2 1.03.65 1152 BA =2 *rH

7F 400mH 3 1.07.25 1158 FRH =2 HrFH

T 400mH 4 1.08.38 | 1078 TR EZE ESin

F 400mH 5 1.09.31 184 S =z 2 =H

T 400mH 6 1.11.09 171 NEFER E 2 RERF

F 400mH 7 1.11.27 1118 RTE #8582 AT EE

T 400mH 8 1.11.55 1186 BH OFALF2 RS —

]l EH JEAz LK F#rno K % FR4

F 5000mW 1 |29.00.00| 267 HN 4L 2 + BHETRE

LG 5000mW | &R [ 30.02.32 i #ZEED2 + B HT

7F 5000mW | &R | 36.11.96 FE B +HHET

F 5000mW 2 |38.29.65| 102 fEE /ME1 R

7F 5000mW 3 | 45.05.92 99 M EER 2 B R

PR EH JEAL FCER A IN— FRE
T F 400mR 1 49.45  |1279H S EE(1) = 1277TARKE 7 (1) = 127651583 (1) = 12711 EEEE(2) EES
T F 400mR 2 49.96 [2628FEmE(1) > 250FRILITEH (2) > 2591 T B (1) = 260 H3EE(1) +HETS
T F 400mR 3 50.25  |1091MFIETF(2) > 10965 4)1124(1) = 10938 LT $°(2) = 1094 5 8%22) | HASIES
ZF 400mR 4 50.71 [1003/Li/HEE(2) = 10058 F #(2) = 10082HF R A (1) = 1006 L EH(D) | FFEAH RS
T F 400mR 5 51.01 |1155@ LR (2) = 1153788E25(2) = 11528 A% (2) = 1165 AR L5 (1) FRHES
¥ 400mR 6 51.30 |52&J11& < Y (1) =49tTHM(2) =505 & < 5 (2) =53:EKkEE (1) e
T F 400mR 7 51.92 |155fTEZFE(2) = 1512 EEM2) = 31INTRER(1) = 152 IBEE(2) EHES
zF 400mR 8 52.15  |110641L#5(2) = 11084LLEM(2) = 1112HA B0 (1) =111V 11IEEED) | FETE S
PR EH [=iva FCE% AU IN— FR4
=7 F 1600mR 1 4.06.86 |1152EAZM(2) = 1154FROEQ2) = 1156521 EH1(2) = 11585 MAZE(2) FEEHS
TF 1600mR 2 4.12.18 |[1225@ER(2) = 12243 HE(2) > 1226/ \BEEEQ) > 122TEHERQ) | FEEE
T F 1600mR 3 4.15.12 |1279EHEEQ)>1271BREE(2) = 1275FLE S (1) = 126TSBE(2) EES
T F 1600mR 4 4.16.37 |25983+FB(1)=>2628F= £ (1) = 257EBEN T (1) > 254 B2 (2) +HES
TF 1600mR 5 4.17.61 |BLINEEBHR() =151 EHI(2) = 1550 AZFL(2) > 156880 HH Y (2) EHES
zF 1600mR 6 4.18.11 [1005:2%(2) = 1008 2F RZ%(1) = 1003 LIF/AZE(2) > 1006 LLEH(D) | FIFEAH RS




145 = [=iva SR EHkno K % FREG
T EE Bk 1 1.62 1092 e BLTh 2 AACEE
ZF E =k 2 1.61 19 ma &2 HREKXRM
¥ EEBk 3 1.60 1098 XE 1 A
T EE B 4 1.55 1179 EH YA A
ZF TE =Bk 5 1.53 296 28K BR?2 Elkas
ZF E =k 6 1.50 21 I FE 2 HREKXRM
ZF TE =Bk 6 1.50 1292 Bl BX?2 AR
T E =k 6 1.50 1246 T OERER 2 Nk
F TE =Bk 6 1.50 182 JIME BEE 2 =H
T E =k 6 1.50 26 s EP1 HREXMK
el = JE{iz SR EHkno K % FRE
T BEE Bk 1 3.10 11 TEE N2 HFREKXMK
F =Bk 2 3.00 15 ZEF DA HREKXMK
ZF E=No 3 2.90 170 g EMAE 2 REKF
T EEk 4 2.80 1120 2R E=A41 FIEE RS
T Bk 4 2.80 138 BHE %2 = HILE
T L33 6 2.60 18 AR Rk 2 HREKXMK
e:1l & [=Civa SR JE: F#kno K % R4
T ENEBE 1 5.21 0.3 87 [®BA EE2 =%
T ENEBE 1 5.21 1.4 1096 |E&)I1 #Ew1 AAXE
ZF TE MRk 3 5.14 1.8 185 [EN EFHE2 = H
T ENEBE 3 5.14 0.1 1136 |Zh YUk 1 |ERPERS
¥ FE Rk 5 5.11 0.8 1208 |&R #12 S
ZF TE MR B 6 5.04 1.5 262 |#E EXL +BHE
zF TE BB 7 498 1.1 24 TTH A5l HTREKRM
T ENEB 8 4.96 1.1 1203 |AM = 2 e
TR & B [=tiva SR JE: Exkno K % FR4
T =Bk 1 10.50 1.4 1136 = YYH 1 |ERFEIR
¥ = ER Bk 2 | 1044 0.4 1092 | f#E &2 AAXE
zF =Bk 3 10.10 0.4 24 T A5 1 HTREKRM
¥ = ER Bk 4 | 10.03 0.8 185 i BfE2 =H
zF =Bk 5 9.97 0.4 220 MR e 2 N
¥ = BBk 6 9.96 1.6 254 hE EE2 + B0y
ZF = BBk 7 9.90 1.8 1269 RE EE 2 B
T =Bk 8 9.77 -0.4 169 BHE EF2 REKF
zF —EZBk 8 9.77 1.4 23 R EE1 HREKXRM




(£l ER= ERL | FE8% | E#kno K % FRE
ZF Rt 1 11.26 1137 TBE KRHEAE1 RRFEIN
ZF Rt 2 10.61 1066 kg B 1 NS E R
ZF R AL 3 9.71 1138 MWH AfE1 HRFEIS
ZF Rt 4 9.68 1052 Aim EE 2 NS LR
ZF R AL 5 9.47 1178 fAH i 2 HFHEE
ZF Rt 6 9.19 255 IR 2 +HHE
ZF R AL 7 9.11 1283 AE EE2 MFHEE
ZF Rt 8 8.93 1012 = EE 2 =

(el E= ERL | FE8% | E#kno K 4 FRE
ZF k53 1 32.76 1131 EE HEiK?2 HRFEIS
ZF k53 2 29.12 1052 s EE 2 i Eaal
ZF A% 3 29.09 218 hiE B2 INFA
ZF k53 4 28.74 1012 =fE BEE 2 %

ZF Rk 250 5 27.37 1283 AE EE2 MHERER
ZF k53 6 27.26 255 IR 2 +BHET
ZF Rk 250 7 26.52 1268 mR AR 2 LS|
ZF ks 8 26.41 258 =R BE1 + B HT
R ER= lEfz | &8k | Bfkno K % FiR4
ZF | rNvve—%| 1 42.74 1117 BH EE 2 FSE R
ZF | n~Nvve—%| 2 35.81 1178 AR i 2 FTHEHEE
TF | nNvv—#%| 3 29.21 1137 TE KEE1 HRFEIR
ZF | ~Nvv—#]| 4 25.73 1131 BB EK2 HRFEIR
TF | nNvvw—#%| 5 24.83 160 FEE # 1 N
ZF | ~v<w—#]| 6 23.20 77 BrIER  MkfE 1 E R IE R
el = [=iva FCEK EFkno K % FRE
ZF aelUE:"3 1 38.05 1139 wWE =41 HRFEIR
ZF aelUE:"3 2 36.53 1157 AX] KA 2 TFH
ZF ek 3 31.73 204 R B2 R
ZF LY 4 31.17 18 AR Bk 2 TR EE KM
ZF ek 5 30.70 1039 RIS HIE 2 1w
ZF aelUE:"3 6 28.55 268 PERE  ERX 2 +RBETHRA
ZF ek 7 27.25 218 hiE B2 INFA
ZF LY 8 26.31 26 s EP1 R EE KM
(£l ERS ERL | FE8% | E#kno K % FRE
ZF TRERE 1 4276 1249 A BAE1 BEPE
ZF TREFR 2 3846 27 MmH FE1 R EE KM
ZF TRERE 3 3827 182 NI{E BB 2 = H
ZF TREFR 4 3586 1154 R0 2 T HH
ZF TRERE 5 3024 268 fERE MK 2 +BETHRA
ZF TR 6 1676 63 FIR R 2 AN=L:]




